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Question 3: 

Do you think planning can work in a changing environment? 

ANSWER: 

No, planning may not work right in a changing environment. Business environment is dynamic 

in nature and changes continuously. For example, political conditions, social conditions, 

consumer tastes and preferences, government rules and regulations change continuously. 

Planning cannot foresee such changes and may prove futile. That is, due to uncertainty of future, 

planning may remain ineffective. For example, suppose a garment manufacturing company plans 

to increase the production of silk shirts. But over a period of time, the market demand shifts 

towards cotton shirts. Thus, in this case the previous plans of the company fail and it must modify 

its plans to cater to the change in demand. Similarly, if the government announces a reduction in 

the interest rates for consumer durables, the demand for such products increases. The plans of an 

organisation may not foresee such changes and may prove ineffective. The production and sales 

plan of the organisation must change as per the changing market demand. Likewise, with an entry 

of a competitor in the market a company needs to alter the previous plans so as to face the 

competition in a better manner. नह ीं, िदलिे पररवेश में ननयोजन सह  काम नह ीं कर सकिा है।  
व्यावसानयक वािावरण प्रकृनि में गनिशील है और लगािार िदलिा रहिा है।  उदाहरण के ललए, 
राजनीनिक क्थथनियाीं, सामाक्जक पररक्थथनियाीं, उपभोतिा थवाद और प्राथलमकिाएीं, सरकार  ननयम 
और कानून लगािार िदलिे रहिे हैं।  ननयोजन ऐसे पररवितनों को दरू नह ीं कर सकिा और 
ननरथतक साबिि हो सकिा है।  यह  है, भववष्य की अननक्चिििा के कारण, योजना अप्रभावी रह 
सकिी है।  उदाहरण के ललए, मान ल क्जए कक एक कपडा ववननमातण कीं पनी रेशम शर्त के उत्पादन 
को िढान ेकी योजना िना रह  है।  लेककन समय के साथ, िाजार की माींग सूिी शर्त की ओर 
िढ गई।  इस प्रकार, इस मामले में कीं पनी की वपछल  योजना ववफल हो जािी है और उस ेमाींग 
में पररवितन को पूरा करने के ललए अपनी योजनाओीं को सींशोधिि करना िाहहए।  इसी िरह, 
अगर सरकार उपभोतिा हर्काऊ वथिुओीं के ललए ब्याज दरों में कमी की घोषणा करिी है, िो 
ऐसे उत्पादों की माींग िढ जािी है।  ककसी सींगठन की योजनाएीं इस िरह के िदलावों की उम्मीद 
नह ीं कर सकिी हैं और अप्रभावी साबिि हो सकिी हैं।  सींगठन की उत्पादन और बिक्री योजना 



को िाजार की िदलिी माींग के अनुसार िदलना होगा।  इसी िरह, िाजार में एक प्रनियोगी के 
प्रवेश के साथ एक कीं पनी को वपछल  योजनाओीं को िदलना होगा िाकक प्रनिथपिात का सामना 
िेहिर िर के से ककया जा सके। 
Question 4: 

If planning involves working out details for the future, why does it not ensure success? 

ANSWER: 

It is true that planning is a forward looking function and is based on analysing and predicting the 

future elements. However, future involves uncertainity and cannot be predicted. There are various 

external forces that affect the functioning of an organisation. These forces are complex and ever 

changing in nature. For example, social trends, political conditions, technology, government rules 

and regulations change continuously. Due to such uncertainties, one cannot be sure of the success 

rate of the plans rather, the plans need to be modified to adapt to the changing environment. For 

example, suppose due to entry of a competitor, the demand for the products of a company reduces. 

While planning out production the company could not foresee such a change. Thus, the previous 

plans of the company fail and it must formulate new plans keeping in view the change in demand. 

Similarly, suppose the government announces a relaxation in the rules for foreign investment, as 

a result of which competition in the market increases. The sales and manufacturing plans of the 

domestic companies might fail in the face of the increased competition. Thus, it can be said that 

despite the fact that planning involves working out details for the future, it does not ensure 

success. यह सि है कक ननयोजन एक आग ेकी ओर देखने वाला कायत है और यह भववष्य के 
ित्वों के ववचलेषण और पवूातनुमान पर आिाररि है।  हालााँकक, भववष्य में अननक्चिििा शालमल है 
और इसकी भववष्यवाणी नह ीं की जा सकिी है।  ववलभन्न िाहर  िाकिें हैं जो एक सींगठन के 
कामकाज को प्रभाववि करिी हैं।  ये शक्तियााँ जहर्ल हैं और प्रकृनि में कभी भी िदल रह  हैं।  
उदाहरण के ललए, सामाक्जक रुझान, राजनीनिक क्थथनियाीं, िकनीक, सरकार  ननयम और कानून 
लगािार िदलिे रहिे हैं।  इस िरह की अननक्चिििाओीं के कारण, ककसी को योजनाओीं की 
सफलिा दर के िारे में सनुनक्चिि नह ीं ककया जा सकिा है, िदलिे पयातवरण के अनुकूल योजनाओीं 
को सींशोधिि करने की आवचयकिा है।  उदाहरण के ललए, मान लें कक एक प्रनियोगी के प्रवेश 
के कारण, ककसी कीं पनी के उत्पादों की माींग कम हो जािी है।  उत्पादन की योजना िनािे समय 
कीं पनी इस िरह के िदलाव की उम्मीद नह ीं कर सकिी थी।  इस प्रकार, कीं पनी की वपछल  
योजनाएीं ववफल हो जािी हैं और उसे माींग में िदलाव को ध्यान में रखिे हुए नई योजनाओीं को 
िैयार करना िाहहए।  इसी िरह, मान ल क्जए कक सरकार ववदेशी ननवेश के ननयमों में छूर् की 
घोषणा करिी है, क्जसके पररणामथवरूप िाजार में प्रनिथपिात िढ जािी है।  घरेलू कीं पननयों की 
बिक्री और ववननमातण योजना िढिी प्रनिथपिात के कारण ववफल हो सकिी है।  इस प्रकार, यह 



कहा जा सकिा है कक इस िथ्य के िावजूद कक ननयोजन में भववष्य के ललए वववरण िैयार करना 
शालमल है, यह सफलिा सनुनक्चिि नह ीं करिा है। 
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